## **UNIVERSITY OF KERALA**

## **ENGINEERING UNIT, KARIAVATTOM**

## TENDER SCHEDULE FOR THE URGENT REPLACEMENT OF DAMAGED DOORS AND POOR QUALITY WOODEN ITEMS AT SC HOSTEL BUILDING AT KARIAVATTOM CAMPUS

SI No	Qty	Unit	Description of Item	unit	Rate	Rate in words	Amount
1	10	m²	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.		28.64	Rupees Twenty eight and Paise sixty four only	286.40
2	10	Nos	Dismantling doors, windows and clerestory windows (steel or wood) shutter including chowkhats, architrave, holdfasts etc. complete and stacking within 50 metres lead: of area 3 sq. metres and below.		201.80	Rupees Two hundred and one and Paise eighty only	2,018.00
3	41	Nos	Taking out doors, windows and clerestory window shutters (steel or wood) including stacking within 50 metres lead: of area 3 sq. metres and below.		78.29	Rupees Seventy eight and Paise twenty nine only	3,209.89
4	0.5	m³	Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position with hold fast lugs or with dashfasteners of required dia & length ( hold fast lugs or dash fastener shall be paid for separately).( Anjily wood)	_	86,564.16	Rupees Eighty six thousand Five hundred and sixty four and Paise sixteen only	43,282.08
5	60	Nos	Providing 40x5 mm flat iron hold fast 40 cm long including fixing to frame with 10 mm diameter bolts, nuts and wooden plugs and embedding in cement concrete block 30x10x15cm 1:3:6 mix.		167.65	Rupees One hundred and sixty seven and Paise sixty five only	10,059.00
6	32	m²	Providing and fixing panelled or panelled and glazed shutters for doors, windowsand clerestory windows, including ISI marked M.S.pressed butt hinges bright finishedof required size with necessery screws, excluding panelling which will be paid for separately, all complete as per direction of Engineerin- charge.(Anjily wood) (shutter frame)	m²	2,469.48	Rupees Two thousand Four hundred and sixty nine and Paise forty eight only	79,023.36

7	55	m²	Providing and fixing panelling or panelling and glazing in panelled or panelled andglazed shutters for doors, windows and clerestory windows (Area of opening measured). Panellingfor panel inserts excluding portion inside grooves shutters 25 mm to 40 mm thick.or rebates to be for panelled or panelled and glazed. (Anjily wood)	m²	2,150.57	Rupees Twothousand One hundred and fifty and Paise fifty seven only	1,18,281.35
8	15	Nos	Supplying and fixing ISI marked oxidised MS pressed 100 mm iron butt hinges with necessary screws	Each	39.36	Rupees Thirty nine and Paise thirty six only	590.40
9	15	Nos	Supplying and fixing ISI marked oxidised MS sliding 250mm iron tower bolt with necessary screws	Each	95.65	Rupees Ninety five and Paise sixty five only	1,434.75
10	15	Nos	Supplying and fixing 250mm ISI marked oxidised MS slidiing door, necessary screws nuts and bolts etc. complete. (250x16mm)	Each	237.44	Rupees Two hundred and thirty seven and Paise forty four only	3,561.60
11	10	m²	Repairs to plaster of thickness 12 mm to 20 mm in patches of area2.5 sq. meters and under, including cutting the patch in proper shape, raking out joints and preparing and plastering the surface of the walls complete, including disposal of rubbish to the dumping ground within 50 metres lead: With cement mortar 1:4 (1cement: 4 coarse sand)	m²	354.02	Rupees Three hundred and fifty four and Paise two only	3,540.20
12	10	m²	Finishing walls with water proofing cement paint of required shade (one or more coats applied @ 2.20 kg/10 m²) over priming coat of primer applied @ 0.80 litrs/10 m² complete including cost of Priming coat.	m <sup>2</sup>	77.79	Rupees Seventy seven and Paise seventy nine only	777.90

13	185	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade two or more coats on new work over an under coat of suitable shade with ordinary paint of approved brand and manufacture.	m²	151.79	Rupees One hundred and fifty one and Paise seventy nine only	28,081.15
TOTAL					Rs.	2,94,146.08

## PAC Rs.2,94,146/- (Rupees Two Lakhs and Ninety four thousand One hundred and forty six only)

I/We agreed to execute the work.	1% below the estimate rate		
2 % above the estimate rate.	3. At the estimate rate.		

CONTRACTOR

**UNIVERSITY ENGINEER**